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101-03 (BRE(RIH)2ENE L) 548,814 601,313 A52,499
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- AHZAH|
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- ERg
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- @EFJHI
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-l L E
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- JEsg
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- A2 R
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- RY2E2LH
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<L=>
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O JtSE, =X, R&H S423
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O #Zdade)| s&g

Z& :63,120,0008 - JI& : 72,000,000 63,120 72,000 A8,880
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<==x1.2
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2023 Uk 2Xt=Z&

2 (100)RER S
éo* S(70) =3
ME: (173)Et HAHE EEZ %

(& (cte:®d)
- _ JE
2. 8. dEg. = Oll &4 oK Ol Ab ol BREsZ
100 X2 & =8l 65,308,848 57,926,948 7,381,900
170 =202+ 26,309,051 18,927,151 7,381,900
173 EISIHALEEZ2 48 9,430,000 8,930,000 500,000
173-03 AlSHIEZ=+¢ 3,424,000 2,924,000 500,000
<LZHE>
O ZolliSE LEAMATR =AM HXAL
- Hia=X SX ZHBAF 14
Z3& : 2,600,000,0008 - J|& : 2,100,000,000& 2,600,000 2,100,000 500,000
177 |24 15,801,851 8,919,951 6,881,900
177-01 |23 15,801,851 8,919,951 6,881,900
<HTZHE>
O ’oxt=gz ¢
- 2oll&ld S3XA QU=
23 08 - J[& : 2,500,000,000& 0 2,500,000 A2,500,000
- 2ol S&E S BHA Y EHT
ZdF : 1,245,640,0008 - OJ& : 1,992,688,000& 1,245,640 1,992,688 AT47,048
- ¥RXdFexs
d& @ 2,521,420,000&8 - J|& : 0¥ 2,521,420 0 2,521,420
- SSIXF TAINLAY
43 : 4,129,168,000&8 - J|& : 0& 4,129,168 0 4,129,168
- asd 3see §
Z& :1,919,368,000&8 - JI& :0& 1,919,368 0 1,919,368
- geogldhA R
d& :30,193,000&8 -~ J|& : 0% 30,193 0 30,193
- &2 X0l o W3
d& : 1,628,799,0008 - OJ|& : 0¥ 1,528,799 0 1,528,799
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((200) X2 EXE

L (280)RERAMHES

|8 (234) &2 (e ® )
_ JE
. 8. Mg = Off A oH Ofl Aot Hws2
200 =X E 90,722,591 82,657,606 8,064,985
230 SEIAMHS 25,174,119 25,398,896 N224,777
234 S 14,430,935 14,654,000 A223,065
401 Al EHIZ 2 Y] 14,430,935 14,654,000 A223,065
401-01 (Al&Hl) 14,425,935 14,649,000 A223,065
<ADIESE>
O EEENY S4EAM 84
Z& : 395,000,0008 - 2IA : 400,000,000 395,000 400,000 A5,000
O =ZANdE 2NEH
A& : 117,581,0008 - J/& : 130,000,000 117,581 130,000 A12,419
O XNSAIEE A
Z& : 39,354,0008 - Il : 45,000,000 39,354 45,000 Ab5,646
<g==1,2>
O L& HEA
&% : 2,900,000,0008 - JI& : 3,000,000,000& 2,900,000 3,000,000 A100,000
O &S =22 43 M
Z& : 300,000,0008 - JI& : 400,000,000& 300,000 400,000 100,000
236 AEIER 33,288 35,000 A1712
405 XHAHFHSHIS 33,288 35,000 A1712
405-01 (AL EEFHSHI) 33,288 35,000 A1,712
<SAOLERE>
O L& #EXNE LA P
A& : 33,288,00080 - D& : 35,000,0008 33,288 35,000 A1712
260 HIDtSSEHIXHAFS 14,036,219 14,044,166 AT,947
261 HESQIXHA 14,036,219 14,044,166 AT, 947
401 Al EHIZL 20HYI 12,342,219 12,350,166 AT, 947
401-01 (Al&Hl) 11,430,053 11,938,000 A507,947
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O 80~ XF2 &2Z2 A
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401-02 (2eldl) 900,000 400,000 500,000
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O ZoltiSECh LMATT] 2T AIE XA
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290 JIEIHERXI & 41,012,253 32,714,544 8,297,709
299 DIEI XX E 41,012,253 32,714,544 8,297,709
406-03 JIEtHEX XS 41,012,253 32,714,544 8,297,709
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d& 1 41,012,253,0008 - JI& : 32,714,544,000& 41,012,253 32,714,544 8,297,709
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2023 A 2X5=F =A== A HAM

= (600))\%"*—’#—%|
g :(670)& 2|
AIE: (679)J|E}%%*21¢—9!

B8 HNE. = 0 &t o 126 HIDE2
600 Afgia-o! 2675535 262,235 25,300
670 Zeiol 4ol 287535| 262,235 25,300
679 JIErE 29l 4ol 207490 182490 25,300
679-03 ESEM 4o 25,300 0 25,300
<A|-)1|EEI‘IA

O HEHE K2 49

BT : 25,300,008 - JIE : 0% 25,300 0 25,300




2023 B 2XFF UMK E OASHAA

f o (700)AtHHIS
fo(710)2 018
ME: (71132 H =

> (o i

Z. 8. NE. = 0l & o8 m?l\ﬁu BlRE2
700 AbIHI® 12,724,247 12771,612| 247,365
710 ZeHI 8 12724247 12771612 47,365
711 LU F S| 9799191 9,804,831 £5,640
201 L ett| 66,481 67,181 ATO0
201-01 (AF222IH|) 9,798 10,498 ATO0
<FH 4=>
O SYHFAVS BALE
Z& : 08 - J|& : 700,000& 0 700 AT700
202 OfH| 7,400 12,340 24,940
202-01 (2LHOIHI) 5,900 10,840 £4,940
<F| =>
O H4=B2| J=AREA oY)
A& ! 5,300,00080 - Ji& : 8,640,000& 5,300 8,640 A3,340
O H471J| L A2ALS ADEA 0t
28 08 - 2JI& : 1,600,000 0 1,600 21,600
712 B4 2925056) 2,966,781 A#,725
101 Q121H| 444,648 462304|  A17,656
101-03 (Z2E(LIIH L) 22E4) 319,180 323,180 4,000
AHBE, MAETBR, e, AHDEES>
O 0|3 (ZLE1)(2Y)
- o232
B : 47,624,008 - JIE : 48,624,0002 47,624 48,624 A1,000
O BAANMEZ(B2H2)(22)
- ol=a
AF 1 112,128,008 - JIF : 115,128,008 112,128 115,128 A3,000
101-04 OI2RZ2XSES) 125,468 139,124|  A13656
O #FFY L =x22 AU (WEIIHME 32)
=
Zd& : 35,780,0008 - DJ|& : 40,800,000& 35,780 40,800 15,020
- REEY+Y
JH 1 9,280,008 - JIF : 10,080,000 9,280 10,080 A800
=P
AR 11,760,008 -~ JIE : 1,920,0008 1,760 1,920 A160
- 2|
M 1 2,175,008 - JIE : 2,550,0008 2,175 2,550 A375
O =Xael ARY(HEHE 48)
- ol=a
& @ 50,063,0008 - J|& : 52,333,000& 50,063 52,333 22,270
- 3AH|




Tt (700) At HIE
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Mg (712) & 2| (S ® )
2. 8. Mg = O &k 01?1\7;%” BlDE2
23 . 3,185,0008 - JI& : 3,400,000& 3,185 3,400 Ar215
O 4028 |2=2(7E)

Z3 :7,832,00088 - JI& : 12,648,000 7,832 12,648 24,816
201 LerR &I 309,872 316,454 76,582
201-11 (KIS &) 64,102 67,382 13,280
<BHHIE >
O 180(9001, 14001, 45001, 22000) MEHEZ| MM =5

23 :8,000,000& - JI& : 10,000,000& 8,000 10,000 A2,000
O S DHHA ==&

- 1,500mmO| &t

&% @ 5,410,000&8 - J[& : 5,940,000& 5410 5,940 Ab30

- 1,000mmO| St

&% : 3,500,000& - JIH : 3,850,000& 3,500 3,850 A350

- 500mmO| &t
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<AHHIE A>
O WSHI(IS0, Ralssi22, DAItA )
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<At HE 2>
O 28X szl
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<AHH A 4>
O JI2gRF& =UHAH

Z3& : 4,680,00088 - DJ|& : 16,200,000 4,680 16,200 a11,520
O H2FFe (DA - &Il - =222 S) d2FE ol

& : 710,0008 - J|& : 3,000,000 710 3,000 22,290
O Z&EZ2Y MOILEA oyl

23 : 643,0008 - 21F : 1,500,000 643 1,500 A857
202-05 (B W=s0Hl) 620 1,500 A880
<AHH E 2>
O WKOHBI(IS0, FolESEE, DAINHA S)

ZA @ 620,0008 - 2I& : 1,500,000& 620 1,500 A880
207 SOy 20,060 22,000 21,940
207-01 (¢ 83H|) 20,060 22,000 21,940
O Y=z 23U BIEATAI E JI2HE =8 EF
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2023 @& 2xF=4

NEHXE G AA

D (200) 2 X =

: (230) RE TN HS
NE: (234) 7= (29 2R)
. @ Mg = 0f &ty e | wnsZ
200 H=EKE 451226 750500 299,274
230 SERLFS 451226  750500| 299,274
234 TEE 47751 748000 300,249
T EETT] M7751]  748000] 300,249
401-01 (Al&2H) M7751|  748000) 300,249
LTS
O 445 N&E X)| U ZUUFEZ 89
HF ¢ 72,708,008 - JIE : 85,000,0008 72,708 85,000|  a12202
O 3, B4NE HNASE) 8
HE : 213,263,008 - JIE : 234,000,008 213263|  234,000| 20737
O MUTAE B2IAE L YA TAIA QYDA
ZE © 7,560,008 - JIF : 80,000,0008 7,580 80,000|  A72420
I PEEER
O MHUFAT ROIYANUES ME.SUAE 87 MAEH 29
23 : 20,000,008 - JIF : 22,000,0008 20,060 22,000 A1,940
<H 2>
O ZHOT4 F4E NATY S (AAY)
HE : 38,140,002 - JIF : 231,000,000 38,140|  231,000| 192,860
237 201712 3475 2,500 975
405 KO3 SHIS 3475 2,500 o75
40501 (HAUEEH=H]) 3475 2,500 975
LS
O X4 HEJl 7
HI : 1,000,008 - I : 0% 1,000 0 1,000
<3 4>
O 808 JHAsE 537 7g
HF : 2,475,002 - 1B : 2,500,008 2475 2,500 225
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2023 Uk 2xFE =A™+ Ol MSAHA
2 1 (600)ALS 4=
g :(610)9+o
Hig: (661)J1EHH H 42 (CHe @ 2l)
=, 8. Mg, 5 Ofl &k24 mﬂﬁu Husz
600 At < 233,255 315,764 182,509
610 42 34,811 97,320 162,509
661 JIE+H =2 34,811 97,320 £62,509
661-03 J|Et=2=E 49 34,811 97,320 A62,509
<FEHAD
O Y=g M &8
- )| EANE, 208
23 :16,062,0008 - J|& : 40,155,000& 16,062 40,155 A24,093
O dEE+ =TIAM &8
- &) A8, #2108
Z%& :6,655,00080 - D& : 39,930,000 6,655 39,930 A33,275
O =% - 3288+ +EHHAM =2
- HI| BAE, 208
A& : 2,094,0008 - J|& : 5,235,000 2,094 5,235 A3 141
O JIEt =ZHA =25
Z& : 10,000,0008 - J[& : 12,000,000& 10,000 12,000 A2,000
670 242 198,444 218,444 A20,000
679 JIEIS 22 130,000 150,000 A20,000
679-03 =SS 022 10,000 0 10,000
HSNTH>
O HEdE W2 ¢
Z& 1 10,000,0008 - DJIH : 0¥ 10,000 0 10,000
679-09 JIEH & 2| =9 120,000 150,000 A30,000
<D:1%X-I_J‘\_>
O Bz LAY ¢
Z& : 120,000,0008 - J[& : 150,000,000 120,000 150,000 A30,000
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o S GCLR-ED
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712 Ha 3283027| 3703680  A420653
101 ol 2AH] 359022]  391722|  A32700
101-04 (I2H2EZ NS 2 4) 158102 190802 432,700

O 223y 2 =Xz oy

2F : 158,102,008 - OJIE : 190,802,000 158102| 190802  A32700
201 Yerea| 20776]  2308%| 49120
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@srm>
O XOIYLMUEE 4H2AM BB 448

FF 08 - JIF : 2,460,008 0 2460  A2,460
O PEZ4E PN(BIOABRE) FHNE T

AT 12,700,002 - IIF : 5,400,000 2,700 5400 42700
201-22 (Rt 6,000 9960 43,960
@EmEa>
O mENY ST

2T 6,000,008 - IIF : 9,960,0008! 6,000 90|  A3,960
202 018 12160 31160] 419,000
202-01 (2LHOIHI) 12,160 2160]  A16,000
<KHEH 2>
O JlzeREx 2ol

AT 12,160,008 - OJIF : 23,760,000 12,160 23760|  A11,600
O EH4® 2O, W, +TAN 5) AL o/t

2H 08 - IIF : 4,400,008 0 s400]  a4400
202-05 (22 LR0II) 0 3000] 43000
@smL
O RECHI(IS0, SHSSE, DAL £)

2% 08 - I : 3,000,008 0 3000] 43,000
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O wsas gl
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O gyasse D
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2 (200)MHEHXE
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2 g Mg s Off &k o4 0l Ab o4 Husz
200 X=EXE 1,808,737 1,829,590 A20,853
230 REHAES 1,808,737 1,829,590 220,853
234 =2 1,769,718 1,790,000 A20,282
401 AlI2HIZ Y] 1,769,718 1,790,000 720,282
401-01 (Al&Hl) 1,769,718 1,790,000 A20,282
<BssZE2I>
O XOtSEAALIEE RMZ-EAAE A3
d& :1,359,718,000& - JIF : 1,380,000,000& 1,359,718 1,380,000 A20,282
237 BJ|FHIE 5,019 5,580 A5T1
405 THAHF SHIS 5,019 5,590 A5T1
405-01 (MM EEFHSH|) 5,019 5,590 AbT71
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O Z4B0LX M4 oz wil
d& :3,113,0008 - DJI& : 3,500,000& 3,113 3,500 A387
O =ZHE2 HgZ20d8 tES 2Y
d& 1 1,158,0008 - JIF : 1,190,000& 1,158 1,190 A32
O 848 M2 7
d3 :748,0008 - J1F : 900,000 748 900 A152




